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ANnswer Gudu.

Please attempt all questions with a calculator.

Year 11 — Paper 2 & 3 Revision Pack
(Foundation)

Paper 2: Tuesday 7t" June 2022
Paper 3: Monday 13" June 2022
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.
W
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How to use this revision pack

1. Review the list of topics that will appear on paper 2 and 3 of the summer exams. The booklet is divided into two
parts; the first half is preparation for paper 2 and the second half is for paper 3.

2. Work through the revision pages for each of the topics that will appear on the summer exams.

3. Use the electronic mark scheme to check your work and identify areas of weakness. The electronic mark scheme can
be found on Teams and Satchel One.

4. Follow up with either:

A. Using the Hegarty Maths Clip Numbers to watch video tutorials on areas of weakness. You should then
complete the quizzes on Hegarty to test whether you have closed your gap in knowledge.

OR

B. Follow the link for Maths Genie Exam Practice and search for the pack of questions relating to each topic (Mark
Schemes Provided)

Each of these options is clearly labelled at the bottom of each page of revision.
5. You can also access whole past papers at https://corbettmaths.com/2022/02/28/edexcel-gcse-foundation-summer-

2022/ You should select Advanced Information — Paper 2 and 3 (Set A and Set B)
6. Email your class teacher if you have any questions.
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Number {“see RMio - somae overisp of topk areas)
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hegative nurmbsr
Fractions Fraction arithmetic
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Scale drawing
Percentages Decimal to percentage
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Ratio Write as a ratio
Use of ratia
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Currenty cotweriion

Geometry and measures
Shape Polygons
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Parallel and perpendicular lines

Transformations
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Vertically opposite angles
Length. area and volume Area of 3 rectangle
Statistics
| Diagrams Interpeet graph
Two-way table
Frequency table
Measures Mode
. Median
: Mean
Probability
Proba;lity | Tree diagram
7 Combined events

Ll
(o]
|
c
9
)
(1]
S
L &S
—
=
©
(]
(8
(=
]
>
©
<C

Calculator

Section A: Number

Nnmb-cr_('u.c. Ralio- same overlap of topic areas)
Arithmetic - | Money o R
. Negative number |
Frac_tio: - ‘ Fra_ct;n arithmetic - -
[overtactons
Properties : Order integers - -
| Muttiples - |
| App and Estimati I Rounding o |
. -Em;interval - o _:
: Ot‘hev_ Mathematical sy:nbols
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Money

A badge costs Tp. Mr Blair buys 30 pers, 30 rulers, 0 pencils and M0 cakculaton,
Sam has €5, Price List
He buys as many badges as he can. Pers S for 95p
Rulers 10 for £264
Work out the amount of change Sam should get from £5. Penxils 6 for S2p
Give your answer in pence. Culculators  £6.25 exch
What ix the total amcunt of mancy Mr Blair spends?
- M - N
= A F2o3.ia

| https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics.html

AT e tymat hs EEZEED

Negative Number

Work out Work out
5-14 - _ 9 —-2x-3 = £
-5 —14:= -9 -4 X—-8 = a5

14 —(-5) = {9 (-25)% = @25
—14 —(=5): - 9 (-5)° = -ias
Work out Here are four numbers.

-8 -2 2 8
Write one of these numbers in cach box to make a correct calculation.

—-125 +5 ¢ - 25
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Fraction Arithmetic

For these questions, you need to show your full working out.

IR hegartymaths

. Fractions

3 2 1 3 3 2 3
5774 5774
- i 9 .
= — e 5 — ~ .Q—g = l vsi
20 20 as 3S
2 3 . 2 3
3§ + 1Z What number is halfway betweeng andz?
i3
=103 . g3 T =
20 20 46

Ordering Numbers

Order the following numbers.
Start with the smallest number.

8,2,—4,0,—7

Order the following numbers.
Start with the smallest number.

2 3 7

3 5 10

-7) ‘4‘{0,1,% 3_ .’_L-J7
£°’°3 "%

—

Order the following numbers.
Start with the largest number.

5,—2,-1,8,—125
8, 5;" il—zl-i25

hegartymaths Eix

FOLLOW-UP WORK

Which fraction is closer to

2_‘)3 5 /50 .
7 J10 7 7(-1..)

N
314

14 2ATRAN

Explain your answer. 3/' o

https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html

Writing, Simplifying and Ordering Fractions
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Multiples

List the first five multiples of 8 Write down all the multiples of 4 between
8 16 - 30 and 50
16,24 32,40

32 o 44 A§
List the first five multiples of 0.8 ’ 3 é) ~ J J

0-8,1¢,2.4,3.2,4

What is the next even multiple of 7 after 42? Multiples of a number are always larger than
the number itself. Comment on this statement.

8¢ 56 Ne as 1S muihple 18 Ha
©"e aste Avmber

7 . s vw.mathsgenie.co.uk/gcse- -iune-2022-foundation- s. bt
FOLLOW-UP WORK heqartumaths CI|p_33 I;:tcts;rsv;v“:u:n.:ll::enecn uk/gcse-may-june-2022-foundation-topics.html

Rounding

Round 45 384: Round to the nearest integer (whole number):
To the nearest 10 45 380 5.627 'S
To the nearest 100 4-%4'00 0.573 |
To the nearest 1000 45000 29.999 -
To the nearest 10000 5,000
Round 3.682 Round to one significant figure:
To one decimal place %, F 45284 S0 0oQ
To two decimal places 3 . &% 2.7446 3
000782 0-008

Clips 17, 56, @ https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. itml
FOLLOW-UP WORK hegartgmaths il Rounding
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Error Intervals

A number that has been rounded to the nearest
hundred is 500. Write this as an error interval.

459 < x < .59

A number that has been rounded to 2 decimal
places is 1.46. Write this as an error interval.

LASS, < < | A6s

A number that has been rounded to 2 significant
figures is 2400. Write this as an error interval,

RO . <

A number that has been truncated to 1 decimal
placeis 1.5.Write this as an error interval.

S <x < i®

https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. html
. | Error Intervals

Clips 773-

DR hegartymths

b v iy

Mathematical Symbols

Complete the blank with either <,>,or = Complete the blank with either <,>,or =

>
D

Complete the blank with either <,>,or =

4 < 6

D

0.45 0.405

-2 -9 0.2 0.19

Complete the blank with either <,>,or =

3 4 9 — 12
- < — — = -
5 15 20

https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. htmi

YRR hegartymaths FTET
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Section B: Algebra

Simplification was also in

Paper'1. Please use your

old booklet to revise this
topic.

Simplification
Expansion of bracket
Factorisation
Laws of indices
. Equations and inequalities Linear simultaneous equations
Graphs . Coordinates
Straight line graph

Functions Number machines

Expansion of Brackets
Expand: Expand:
4x+7): b v 28 xx+7) 3 OC +Fac
2010 —x)- 20 _ 2x ax(x+7) = Aoc® + 285
3(5x —2) . 154~ 6 4x(10 —x)= AQy _ 4‘-(,‘
Expand and simplify: Expand and simplify:
4(10 —3x) —2(x—4) x+5E -7
A -\ -2x+ 8 - :rf - 1xc - &S

Clips 160- . https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics.html
JIILIYRTAWETTE hegartymaths B4 eyl o e
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Factorisation
Factorise: Factorise:
10x+25 5(2x.45) x*+25x (X +2S)
15x -9 3(S5x-13) 2x2%y + 10xy 21% (3:*5)
3x + 6y — 15z 4x3 — 10x
(X +2¢- S 2) 2 (X2 _S)
—— . =
Factorise: Factorise:
x?+10x + 21 ,rz—lu.wgzrm 3)
} LX=FINC=
(x+3)(x +3) x%—4x—21
xX-F)X+3)
hegartg maths gl?i_;s;.;i:-l?; https://www.mathsgenie:co.uk/gcse-may

S e-may-june-2022-foundation-topies.htm|
| Expanding and Factorising

Laws of Indices

Simplify:

Simplify:

5..9 —. "4 9. 5.3 4
x5+ x 4x% + 2x3 - Joe)
x3Ixx? = 5x% x x7 5_,(“

@xy** @ x?’ga

€2 R o

Evaluate:

4 S
5¢ ~B 1S Write = ;3 as a power of 3
50 -

IRV hegartymaths

Clips 173,
174

| Indices
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Simultaneous Equations

Solve the following simultaneous equations:

5x+4y =18
3x+4y=6
x =€

y<-

Solve the following simultaneous equations:

4x — 2y =16
3x +4y =23
az §

Yy=12

Solve the following simultaneous equations:
5x—2y=8
6x + 3y = 42
o e %
y< 6

5 pens and 2 rulers cost £3.20. 6 pens and 3 rulers
cost £4.20. How much does each item cost?

pens s 4Qp
fulrs = 8op

[www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics.html

Clips 190- | : W eni
FOLLOW-UP WORK heqartgmaths 1;1':?)13_”:; Simultaneous Equations

Coordinates

(8) Ow the prid mork with » croas § X ) the poas (4, )).
Ll thee powd &

{€) O e gnd. draw (bt line »ifh cqaicn 1= -}

ISR hegartymaths

-
-1
{a) Wrae down the coondmmics of powt ¢ [ LS

Clips 199-200

|
|
|
|
4 4 2 .
i

F
|
A %] : )
P11 1T Ic
| '| I .
=] { | | I
[ ] |
3 et
{8) Wix dewn the coardimmtes of pose C. i __i'_..h_%:l
{b) Fimd he coavdinates of the ouxipount of 48 (_9_ ?_.__s,

i
ADCD i ¢ sqmee.

() O the priel mmark with » cromm ( X\ 1be povat D 5 that ABCD is & aquarc

https://www.mathsgeriie.co.uk/g
Coordinates

ay-june-2022-foundation-topics.html
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Straight Line Graphs

{a) Complete the table of values for v = 1 - 2v

2 3 ‘
RS

{¢) Usc your graph ta find the valuc of ywhen v - 04

-2

EESTIATIOEN negartymaths R

-V

S

tb) On the gnid daw the graph of ¥ = | - 2v for valucs of v from 2103

hitps://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics:hitml
| Drawing Graphs

Number Machines

Here is a number machine.

inpm _—.-3—' } o

(a) Find the output when the input is 12 '3

(b) Find the input when the output is 13 2,7

Input +11 3 <10 ——> Ouput
When the input is 9 the output is 2.
(b) Complete the number machi

Here 13 3 number machine.

Input ®3 3 -6 > Outpwt

(a) What is the output when the input is 47 €
(b) What is the input when the output is 15? 7

(c) Show that there is a value of the input for which the input and
the ourput have the same value.

AW hegartymaths

Clips 176-
177

3x -

X6

a
Q

A rule (0 calculate a 1axi fore is

£2.50 plus £2.20 per mile \

(1) Work bow much a 10 mile taxi joumcy would cost. 24' 00
A laxi journey costs £20.10

(b) Work out distance of the journcy. 8m \(QS'

httos://www.mathsgenie.co.uk/gcse-ma

J Function Machines

-lune-2022-foundation-topics. html

10
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Section C:

Ratio, Proportion & Rates of Change

Ratio, proportion and rates of change (*see Number - some overlap of topic areas)
Conversions Mass, time, area
Scale drawing
Percentages Decimal to percentage
Pescentage profit ert.e asa ratlo'a nd Use of
Ratio was also in Paper 1.
Depreciation Please use your old booklet
Ratio Write as 3 ratio to revise this topic.
| Use of ratio Direct Proportion was also
Proportion Direct proportion in Paper 1. Please use your
. old booklet to revise this
Currency conversion ;
topic.

Conversion (Mass, Time & Area)

Convert the following: Convert the following:
45kgintog 4S50 UT 4.5 tonnes into kg
423gintokg O 4-13]((3, £500 K.%

0.54kg in g 5408

Convert the following: Convert the following:
25m? intocm?  25,000¢m™ 4 hours and 24 minutes into a decimal
4 & bhows
27cm? intomm? 1700 gy 2.3hours into hours and minutes

Thoue RMaves

Clips 695:697;700- | https://www.mathsgenie.co.uk/gese:may-june-2022-foundation-topics. html
FOLLOW-UP WORK hegartgmaths 701, 706, 709-711 'an:erstnﬁ:?ﬁ'ﬁmp co.uk/grse-may-june oundation-topics.html

11
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FOLLOW-UP WORK

Scale Drawing

The accuirate scale drawing shows a small box and a large box
&Q’u‘[& \‘ui-u Ro.
dyfera™
bocawso 1
pd

Large box

Small box

Io.g

The uall box has a real height of 20 centimetres,

Find i1 estimate for the real heighi of the large box.

hegartymaths LSS

0. 8en 20¢m.

i

A4S (‘

3. 7w ILSm

e

A map has the scale of 1:50000
The distance between two points on the map is 10 em.

Work out the real distance berween the two points.
Give your answer in kilometres.

[Ox BOOOD

iy

500,100 cn
Booom

]

https://www.maths

1 Scale Drawings

-june-2022-foundation-topics. html

Percentages

Convert the following decimals to percentages:
04 40%
4
4

0455 A, ¢ -

0.04

How do you represent a decrease of 12% as a

multiplier? .
%7 = 0,95

How do you represent a decrease of 5% as a
multiplier? q S-/' -0 9;-

I hegatymaths

I buy apack of 20 pens for £5.
I sell each of them for 30p. Work out my
percentage profit.

'E‘x"oo 20"

Clips 55; 760-

761;.95

A car costing £15,000 depreciates in value by 15%
each year.

How much will it be worth after 3 years?

F9211.98

How many years does it take the are to half in
value? §

, https:

Jwww.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html
| Percentages; Percentage Change

12
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Currency Conversion

The conversionrate between pounds
and US dollarsis £1 : $1.30

A hat costs $50. ﬁ 38, 4

What is this in pounds?

In a shop, the same hatis on sale for

$80 or £60.
The shop writes the conversion rate as
£1:5m é 1.33
f60: to

What is the value of m?

In a shop, the same hatis on sale for
$90 or £50.

The shop writes the conversion rate as
$1:€n s
L fo.3
What is the value of n?

RIS gty maths EITAE

The conversian rate between pounds
and US dollars is £1 : $1.40

70xi.4= §95.

A hat costs £70

What is this in dollars?

| https://www.mathsgenie.co.uk/|
Exchange Rates

-june-2022-foundation-tepics.html

Section D:

Geometry & Measures

| Geometry and measures -
.Shi: N Polygons” - -
Cirdles R
Parallel and pe_rpendicular lines -
Transformations -
_Angles - IAnglesinattiangle -
Vertically oppos_ite angles - -
“Leng-t-h.a:eaandvom; .;maofaredangle )

13
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Polygons

pettagon

c.What type of angle is DEA?
Acute

IO hegartymaths

RI8

a.What is the name of the shape ABCDE.

b.How many lines ¢|7f symmetry does ABCDE have?

The shape above is a regular polygon.
a.What is the name of the polygon?
Hex oo

b.How many lines of Sémnleh'y does the shape have?

c.What is the order of rotational symmetry?

Clips 822-

Circles

On the circle below, draw and label a:
chord

radius

IETEENORIT o tymaths EEEE

Write down the mathematical names for the
straight lines in each of these two diagrams

T‘\f\anm’ DlWr

O &

Circles

s://www.mathsgenle.co.uk/gese-may-|une-2022-foundation-topics. itml

14
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Parallel & Perpendicular Lines

;

Draw two parallel lines.

/‘%—/’
,——"’I%

Draw two lines perpendicular to each other.

The diagram beiow shows a shape ABCDEFG

(8) Which tne i paraliel lo AG?

{f} Whach e is perpenchcular to EF?

(8} Wnat is the mathematical name given (0 ABCDEFG?

Ha.pj-q__agfp
m
DE

Gk

FOLLOW-UP WORK hegartymaths Clip 821 1 https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html

Transformations

() Reftecy dhape P oa the b 1 = |
Label e e sdmper A

m’_h_?byﬁhu-(_’"
Labed e arw shupe B

{6) Botmr thape P by 9" smcincie e, coutax U
[y Spepipiy S

Famd the vadoc of p aod e valuc of ¢.

hegartu maths ﬁiﬁf::;:gqn | Transformatit')ns

(T
EEENEY,
. i
- 1 i
T 1 R
I [
[ \
| -4

hniw»mnn.mn&rmw—dw.m(:)

15
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Describing Transformations

e
ol i 1

A D lmnslahon
A

%)

T
If!dllill“

gsti
Q Colitha

"I-E'ISI

DTN hegsrtymaths

0 EA\Q(%Q

pent

0y

Clips 637-

O Rohatan

8 ‘ A Q@ 90° Artidoackwide
rE CQI 170 ClOClL\W&Q.
TQarre (7 3)

https://www.mathsgenie.co.uk/gcse-may-june-2022-hi

GAL: GASL£EA | Transformations

TR heqartymath

S Clips 480;
AR4-491

Angles Properties
Find a and b. Find w.
104° 82
o 76 0
o4’ ¥\ 49
Find e Find y.
(3¢ + 40)
e G
s T oe= s 26

ion-topics. htmi

16
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Area of a rectangle

Here Is a reclangle with perimeter 30cm.

+~——10cm

Not drawn
5 0 scale

The length of the rectangke is 10cm

Work out the area of the rectangie.

50cmz

ORI heqartymths R

Shown below is a rectangle with length 20cm and width 10cm.

24

— 20— Not drawn
to scale
200em% 10cm {0S

The length of the rectangle is increased by 20%.
The width of the rectangle is increased by 5%

Find the percentage Increase in the area of the rectangle.

251%
24

| https://www.mathsgenie.co.uk/gcse-may-june-2022 foundation-tapics.htm|

] Area & Perimeter

Pictograms

The pictogram shows the amount of money raised by

four tutor groups.
w Q= £10
s 1000000 <o
T 000 ¥
E 0000GQ e
p O0O( Ed

{a) Complete the pictogram

(b} How much money was raised in total?

(70

C)]

1]

I heortymaths EPEE

The pictogram gives mformation about the munber of emails Sami sent oa each of five

day lnst week

e A 00 | N R

ety ([ IO

weredry |[ L JL I 110
meesy ([ L JCICICIC]E
2N | S o

|Drm3cmnk|

Work out the mean number of emails Sami sent on these 5 days.

4¢.9%

| https:/fwww.mathsgenie.co.uk/
| Pictograms

cse-may-june-2022-foundation-topics. html

17
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Section E: Statistics

Statistics

Diagrams

Measures

- interpret graph
Two-way table
Frequency table
Mode
Median

Mean

1100
1050
1000
950
_bopulu:!‘ior\

850

700
630

Yeor

(2) What was the population in 10807

{d) In which year was the paputation 7007

The population is expected o Increass by 120 by 2020.
(c) Work out the expected population in 2020.

IS hegartymaths

1970 1980 1990 2000 2010

lip 425-433;

Interpret Graph

A maneger wrveys s smpiopees 1 Bnd cul how Frey BIvel 1o work.

imEH

“Wak Cycle Bus Car

(a) Wiat is Ihe least papuiar mewd of Venapar?

769 ycle

"
(B) "W 15t ot pogaer meod of reeo T

1970 walk

m T
(c) Cakadate e 10wl rusntar of espioyses.

52

18
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Two Way Tables

A football team played 38 games.
19 games were played at home and the rest were played away.

The team won a total of 21 games,
They drew 4 games away.
2 of the 10 games they lost were at home.

Copy and complete the two way table.

Won Drawn Lost Total
Home { 4— 3 2 19
Awy | 7 4 b F]
Towl | 2 2 (o 3§ |

100 students in year 7 cither study French or German or Spanish.
45 of the students are boys and the rest are girls.

12 boys study German.
15 boys and 17 girls study French.
A t0tal of 30 students study Spanish.

Work out how many girls study Spanish.

F le | s | whi
8 sz [ g [as
o |3 26 | | 55
Tl |3 | 28 |3 | po

ﬁl girt S Shudy gpon

I hegartymaths

Clip 424-424

https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. htm|

Two Way Tables

Mode and Median

red, blue, green, blue, yellow

Find the mode of:

454664368 4 snd £

blvo

Find the median of:
5,7,10,12,15 (8]

578111215 g 5

The table shows the ages of an under-21 rugby squad.

Find the mode.

| Age Frequency
18 5
19 5 Find the median.
20 9
21 4

IR hegar tymaths

Clips 408, 409,

415:416,419:420 | pyerages

20

26

| hitps://wwww.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics.htm

19
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Mean

Find the mean of:

4,5,4,6,6,4,3,6,7

S

The mean of 4,5,5,6 and x is 7. Find x.

15

The next day, Jim ran 20km.
Find the mean distacne [im ran in the six days.

14.3

Jimran a mean distance of 13.2km in five days.

Find the mean

The table shows the ages of an under-21 rugby squad.

[ A-geH B T Frequency !

i 8 [ 5 |

,_ 19 |5 y

i 20 |ER @57—
] 21 4

lips 405- psi// .mathsgenie.co. se-may-june-2022-foundation-topics.html
FOLLOW-UP WORK hegartgmaths .292‘417’419.420. https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-tapics. htm

| Averages

Section F:

Probability

Probability
[ Probabitity

Tree diagram

Combined events

20
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Tree Diagrams

Tin b st b o i, g A s fhag B.
el oo s rabmiict e e e e e b sy day 0.2
Tins take af ramdons & cucmmis fruen cach g (a) Complete the probaialiy trew Jiagram
(2) Camplete tha prohebaliny troe dagram — )
Hug B
= 4 Q.2 B s
9 e [wes
¥g 02
g < &~ Buin
% Bl T
. O—L Basis
3 Ay o
_
B SN S
1) Wik 1 e by bt T s s okt o {b) Work cut the probabalicy than Readley s bus 1 Line on a1 lcast ome of tharer duys
i 5/ 0 .36
T2

Clips 361- of fwwowma .co.uk -miay-june-2022-foundation-topics. htmi
FOLLOW-UP WORK hegartg maths Yo R

Combined Events

B et e Two bags, A and B, each contain four numbered discs that are i e same size

] & [ @ @& @

A game consists of picking ona card &l random and one disc sl random
Tha numbers on the card are sublracled from the numbers on the disc.

@ Complote the tabla to show all the possibie iotals

o .. e

- Py A 5 (a)AdscswmdmmbwAwudscsmdmmwB
Car e — q F A scofe &5 oty by g the on tha two discs. Complete the
1 : mmmummmm
] 18 ( |2 BagA
4 7 2 [} x|1|3|686|7
2 2|2]|6|0][i%
() What s the probsbibty of getting o totel which ks an even mmber? BogB| 4 | 4| [V 8
_S/ DRNES
o @ s [ 2 L4 [Ab[ K

[b)  Find the probabiity of scoring less than 20

Clips 358-
260

FOLLOW-UP WORK hegartg maths

21
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Number {*see Ratlo - some overlap of topic areas}

Anthmatic Four operations
Negative numbaer

Fractrons Frlattion of sy amount
One amount as a flaction of another
Equivalent fractions.

Propertie Factors

Lowest Tomman Mudtipie

Pesvers and Inofs Satars oot
and oyt i

Othes Cakouitator uie

Algelra

Manipulaton Simplification

Expuntion of bracket

Facrstination

Subartute values

Ehange sutet of 4 formita

Frrming an eapeesson
Equations and Inequalities Linear equation
Form an equation

Sequences Linear sequence

Ratio, proportion and rates of change {*see Number - some overlap of toplc areas)
Conversions Time
Compound units

Scale drawing

Prrmeritages Percentage to fraction

Ome quantity 21 3 pescetitage of anathar
Paviwtitage docraue
Hevera percentage
Hatie Write as a ravo
1:nform
Privpoaticsn Direct proportion

Compound measures Average speed

Geometry and measurss

Shape Triangle peopettie
Chasdribatienati
Teianguldt peiym
Angles

Argle properthes of paralied lines
Anighes in » trisngle

Vittrcally oppetite anjle
Rearings

Length. area and volume Mows o 3 Wangie

Asea ol a napezium

Py 3 Theorem and y  Pyrhage 's Theorem
| Probabllity
Probabality Frubateiig uale
Frobatality
Stwticties
Peagrarm Frequency polygon
Mexiuires Medun
Range
Population Comparison of distibuton

Calculator

J

Advanced Information — 3F

Section A: Number

Arithmetic

Fractions

Properties

Powers and roots
| Approximation and estimation

| Other

| Number (*see Ratio ~ some overlap of topic areas)

| Four operations

.Fm:tim of an amount
One ;mnm a3 a fraction of another
Equivalent fractions B
: Factors

| Lowest Common Multiple

Square root
Rounding

Calculator use

These topics have been
included in the previous
revision booklet (paper 1)
or in the first part of this
booklet (paper 2).
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L]
Fractions
Write 12 as a fraction of 60. 4 28
Write your answer in its simplest form. _——
,, 5 35
(PN |
8 32
What fraction of an hour is 48 minutes? I E [ . E / 5
Write your answer in its simplest form. s7¢ g "Jraer
Explaky ypur answer clearly.
Agéb < 4'/ by i« zl
S¢  S¢
FOLLOW-UP WORK hegartu maths E!Iips 625459 i :lt";ci;o:;vm.maths enie.co.uk/gese-may-june-2022-foundation-topics.html
[ ]
Factors & Multiples
Write all the factors of 24. Find the LCM of 18 and 28.
Hint: Use the Venn diagram method.
1,2,3,4,¢6,8 2 ,2¢ 18< %33

28 = bxzx7

All numbers have an even number of factors. | Two bells ring at Sam.

Give an example to show that this statement One bell rings every 12 minutes.
is false. The other bell rings every 22 minutes.
o XS ( | S , 25/ Find the next time the bells ring at the same tine.
: Zhaiis 12ming
Ii.12am
Clips 27,34- | https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics.htm|
ZIVRIVYE hegartymaths [ e
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Calculator Use (Inc. Square Roots and rounding)

Work out 254+ 1.9°
6.5

Write down all the figures on your caleulator display.

A.9629 23077

(a) Write down all the figures on your calculator display. Q)

(b) Write your answer to part (a) comrect to 2 decimal places. (1)

/ -
Use vour calculator to work out V1236 - 5.12

0.R050394;3¢

0.3

Use your calculator to work out 1274 +V95

O~6389‘96 319 6.04 X 4.1

(a) Write down all the figures on your calculator display. )

(b) Write your answer to part (a) comect to 2 significant figures.

0~6¢]— ()

rouowur won: |ARATIE

Use your calculator to work out

(a) Write down all the figures on your calculator display. (2)

(b) Write your answer to part (a) correct to 3 significant figures.

un80° + |
\ tan80" — |

|. 19505 i 446

1o ®

y-june-2022-foundation-topics. htm|

| Using a calculator

Section B: Algebra

Algebra
Manipulation Simplification
Expansion of bracket

Factorisation

Substitute values

Change subject of a formula revision booklet (paper 1)
.Forming:n:pv;sbn_ - or in the first part of this

Equations and inequalities | Lnearequation booklet (paper 2}.
Form an equation

Sequences N ] Linearse;uence

These topics have been
included in the previous
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Changing the Subject

Make a the subject of the formula: Make a the subject of the formula:
y=aw+b _a+5
4k S
= Q C-§5 = o
5 J
Make a the subject of the formula: Make a the subject of the formula:
y=b —2a
20, = b- “r
A= b-\

U
Clips 280- | hitps:/ wwwimathsgenie.co.uk/gese-may-june-2022-foundation-topics. html
FOLLOW-UP WORK hegartumaths ':Rg. e 1 Changing the Subject of a Formula

Linear Equations

1= 3
Solve4x —1 =122 Solve—’—c+2=8

X = 234 or S 4
xx@
Solve 5(3x + 2) = 100 Solve X F2_ 4
T X< 4
Solve4x —1=2x+9 Solve10 —3x =2x —5
x-S Xx=3

FOLLOW-UP WORK hegartg maths Clips 176- https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics.html

1RA: 1R5L.1840 | Solving Equations
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Forming an expression/equation

The sizes of the anglex, in degrees, of a triangle are 2= 9, £+ 13 and x - 8 Pens are sold in packs of 6. Pencils are sold in

i packs of 7.

/ \ I sold x packs of pens and y packs of pencils
A
13\

. yesterday. Write an expression for the total
7\ number of pens and pencils solde

Work out the vaoe of x. (e =T

- X5 > T
Adam has some les. X There are x metres of wrapping paper. Write
Bradley has twice as ma;xy marbles arc Adam. an expression for the amount of wrapping
Chris has 5 more marbles than Bradley. 256+ € paper in cm.
In total they have 55 marbles. X = iQ my\
How many marbles does Chris have? 7. (\ Q0O ¢ ) un

i | https: WW. enie.co.uk/gese-may-june-2022-foundation-topics.html
FOLLOW-UP WORK hegartgmaths 'iForming&SoIvingEquations -

Section C: Ratio, Proportion

and Rates of Change

Ratio, proportion and rates of change (*see Number - some overlap of topic areas)

Conversions Time
Compound units
Scale drawing
[ Percentages - Percentage to fraction = These topics have been

included in the previous

One quantity as a percentage of another -
== — 1 revision booklet {paper 1)

:e::":::t:e or in the first part of this
= ! booklet (paper 2).
Ratio Write as a ratio
l1nform
Proportion Direct proportion
-Compou_ ;dmeasurts iAv:r;g_espeed )
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Compound Units

Write 40m per second in km per hour Write 4,000 kg/m?3 in g/cm3
4
VA 4wl
Write 27km per hour in m per second Write 11 g/cm® in kg/m3
7. Om(s H POO

hegartg maths '(I:;i7p_s7;§4' 731' | Comx;ound Measure; =

Percentages

Convert the following percentages to fractions: Write 15 as a percentage of 25
(Give your answer in its simplest form) )/,
45% 9/
s Write 17 as a percentage of 30
- /‘
40.5% &1 /00 S6.¢
. is x9 . is x?
6% 5/59 40 is x% of 200.What is x
20~
05% | /2.0 o

Clips 82,62,  https://www.mathsgenie.co.uk/gcse-mav-june-2022-foundation-topics. itml
FOLLOW-UP WORK hegartgmaths 76 | Fractions, Decimals and Percentages
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Reverse Percentages

. Mra Resd a car costing £11780
The value of a house increased by 6%. Thvs comt s VAT at 8 e of 20%

The house then had a value of £265 000

Work out the value of the house before the increase.

Hiw much i ha VAT?

£ 19¢0

ZSOU a0

In a sale, the normal price of a book is reduced by 20%. mmmf .:'l;':'w,m,".‘..f’.? people that he previous match
The sale price of the book is £4.80

Work out the normal price of the book.

£6. 00

Explain why the announcer is Incormect
6200 1 4
<4285 -
fat Passilde < deimol fumbe

Clip 96 hitps://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. hitm|
FOLLOW-UP WORK hegar tg maths K Reverse Percentages <

Section D: Geometry

& Measure

Geomaetry and measures
I Shape o -Trianglepropenies
Quadrilaterals
Triangulas prism
Angles - | Angle properties of paraliel fines
| Angles in a riangle 'These toplcs have bfeen
Vertically apposite angles included in the previous
| | Bearings — 1 revision booklet (paper 1)
|Lengtharesandvolume | area of atriangle ' or in the first part of this
Avea of a trapezium booklet {paper 2).
Pyth s's Theoremn and Trig o Yy PythagorassTheorem
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Shapes

What is the mathematical name of the triangles:

>~ ngtanged b idga

A (©6@ks

Beiow ts 8 304 shape

i What is e mathemaical name tor the shape?

2 ﬁmg\lar\f}ﬁ(m =
A s -
‘Write Cown the numer of taces S

AN @plotesl - ¢
hegartymaths RS

Shapes

i L A quadriatersi i dran bulow.
The names of five quadrilaterals are given. Ay o~

square rhombus rectangle kite trapezium

Three of them are drawn below.

(8) Writs down the neme of this quadrilsersl.

A B c pasalllogram
Complete these statements. (b} How many irus of symmetry does the shape have?
‘ 0
Shape Ais called a SJIMO:‘P
Shape B is called a T{HPPZ-NM (©) Drawa 1 two s of

Shaps C s catled a ... \CAT€. D
FOLLOW-UP WORK hegartgmaths Clips 823-826; ! https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-tapics.html

829-830
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Angles in Parallel Lines

{a) Which angle is venically opposia Ip angle g T

e
D) Which angie I8 COMMPONING 1D anglé a7

{6) Which angle ia siserrate 1o e ¢ 7

o)

{d) Wiach angle i carreaponaing 1o angse 11 7 d
m
(8) Which angie & Siamais 1 angle & ?

e

> AT

C i n

48 and CD are parlle] lines
EFG i an iscaceles iriangle

Ange AEG = 110 70
Find the size of angle FGD,

.
hegartymaths LS R Frerymm

Angle CAD » 28"
Calculau the sizx of ngle &
Give remums for cach stage of your mewar.

enie.co.uk/gese-may-june-2022-foundation-topics. htrl

The sccurate scale drawing shows the pasitions of point A and point B.
| em represents |00 m.

(a) Find the bearing of A from 8.

4 Sen

Point C is 450 m from & on a bearing of 150°

(b) Draw point C, with a cross (x), on the diagram.

Bearings

F A
{nt: 1t is not drawn accurately — use parallel line rules
to solve this problem

EEETEA hegartymaths EEEEE

The bearing of point B from point A is 028°,
Find the bearing of A from B.

N

20%8°

https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. htm|

Bearings
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hegartymaths EEEEE

Area of Triangles & Trapeziums
Shown beiow is a noht-angled irangle Find the area of the trapezium
Not drawn accurataly 5.2cm NOU aran
6cm ;"'—T\i\\
/ 4.5¢m Gcm
Y / 1 36om*
mmmmT. Tow Y™ -
T Som .
__ IM- . xem '
Tha arde of the trapazium ia &3 7C‘4 The area of the trapezium is 34cm?. ”CM
W ot the vadie of « Work out the value of x.

Pythagoras Theorem

IR hegartymaths

Find the length of a Find the area of the triangle
8cm ,
Zem a %.lom X [|.Sem
4cm 14cm
Find the length of x Find the length of the two perpendicular sides.
a) x 15¢cm
[ 7 cm 7 N ' cm
6 cml |0 ‘6(.'M
8cm

y-June-2022-foundation-topics. html
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Section E: Probability

~ This topic has been
Probabitity

included in the previous
Probability Probabdlity scale

revision booklet (paper 1)
or in the first part of this
booklet (paper 2).

Probability

Probability Scale

Toryy makes & fair six-sided spinner.
The spinner has the numbem 7, 8and 8 on it

The probabifity the spinner will Land on 7 s greater than the probabifity that the
spinner will land on 8.

The probability that the apinner witt land on 8 Is i
(8). On e probability scale mark with a cros (X) the probability that
the apipner tancs 0n A W | Write the numbers on the spnner.
Fal

|
I
L] 1 I
2

(b) Write down the probabiliry that the spismer haoxds on C.

An ordinary fair dice is thrown once. \
(a) On the probability scale mark with a cross (X) the probability that A
the dice lands on 10. v
A | ! 1 | 1 |
- 1 I I I I 1
2
{b} Writedo)wnlhepmhobilityd’ntlhedicelamkonanumbergwﬂcr

than 1. ‘ 2.
Croviow vp won [ U oo

s:/fwww mathsgenie.co.uk/gese-may-{une-2022-foundation-topics. html
| Probability Scale
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Section F: Statistics

Statistics
Dlagrams

Measutes

Population

Frequency polygon
Median
Range

Comparison of distributions

This topic has been
included in the previous
revision booklet (paper 1)
or in the first part of this
booklet (paper 2).

The table bebow gives information about the time takes for 20 people to sun § fan.

Time (minntes)

15<t<0

_— W<1g2S

25<iglo

0<1g3s

Drxw & frequency polygon to show this information

&

Frequency

[

—
0
Tinxe

5
L
35

(minuies)
hegartymaths EIXE

Frequency POIYZONS 1 s tummcy oo s trmmio ot e g o630 e

This incorrect frequency polygoa has been dn

Movkght (A em) | Frogueney
| < h g 140 1
190 <k 5 140 7
180 < <18

RV TE] 1
170 b 1M 4

Frequency Polygans

Mot platied oF midpomt

Conected girstond 1ast poist
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Range & Comparison of Distributions

Here are the weights, in grams, of 6 potatocs The table shows information about the beights, in cm, of a group of chimpanzees

150 129 7125 133 144 105 leastbengt | 153 em
median tlaml M‘QH’

(a) Work out the range. /1'5- H oremest ookt | 168 cm |

(b} Work out the median weight. 2) ) .
Thus stem and leaf diagram ahgwy miormanon about the heighis. m am, of a grovp

18' of 15 bonobo mankeys
Mj Median 167

16 145 71(7)8 I -

H@ (O“at Lh EI Key: 151 § represents 158 em.

The range of test scores in year 9 was 35. TREE

1 < the disribution of the heights of the chimpanzees with the distribution of th
If the’)lowest score was 19, what was the highest |  Compme e dunibusion of e heighes o . matithe
score?

6(,]. Hint: Compare Medians and Ranges
Movgoge te bafebo monker)s weretallr:

Tre CAMPANLERS Wire M INSILHAT

Clip 410, 414, www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html
FOLLOW-UP WORK hegartgmaths e =t = —
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